Model (3)

1-Status and coins are made up of

A-Aluminum B-Copper C-Carbon

2-The cold planet is

A-Earth B-Mars C-Uranus D-Neptune
3-Matter can become pressed in the case of state(s)
A-Solid B-Liquid C-Gas D-Solid and liquid

4-Graduated cylinder contains 100m? of water, when we put a stone in the jar the level of water rises up to

120cm’,so the stone volume equals

A-220cm’ B-120cm’

Maths
1. The measure of any angle of a rectangIJ=

a) 25 b) 40 c) 60 d) 90

. 70000 M. = cooeeeeeeeeeeeeeee kM.
a) 7 b) 70 c) 7000 d) 70 000

. The number 5 million, 123 thousand, 450 is written as
a) 5450123 b) 545 136 c) 5123450 d) 4 501 237

. The common factor of all numbersis .....cccceevveveeeennns
a) zero b)1 c)2 d)3

. If the lengths of the two sides of an isosceles triangle are 1 cm and 3 cm, the length
of the third side = ....c.cccoevvvrivieieine
a) 1 b) 3 c)5 d)6

. The L.LC.M.of 5and 3is ccccceeveeererrveeenne
a) 8 b) 12 d) 30

. 4000 % 25 = coovvveeeeeeeeeenes
a) 100 b) 200 d) 160






